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Answer either Section A or Section B.
Section A: Homer
Answer all the questions.

Passage A1

“o0K ayamds O €knlos UTepdLdlotot ped fpiv
Salvvoat, ov8e TL datTos Apépdeatl, avTap AKOVELS
ROV NPETEPWY Kal PjoLos; 0USE TLS AANOS
Nuetépov pibor E€lvos kal TTwXOS dkoleL.

olvés o€ Tpoel Lelndis, 8s Te kal d\\ovs
BAATITEL, OS dv Py xavdov €Ny und’ aioipa mivy.”

Odyssey XXI, lines 289-294

1 ovk dyamds 0 éknlos UTepdLdloLot ped nfpiv
Salvvoat, 008e TL SatTos apépdeal, alTap AkoVELS
00wV NpeTépor Kal ProLos;

According to the speaker, why should Odysseus consider himself fortunate?

You should make three points.
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008€ TLS dANOS
NpeTépor pbwr Eclvos kal TTeXOS dkoveL.

How is Odysseus described here?

..................................................................................................................................................... [2]
olvés o€ Tpoel LeNndns, 6s Te kal dA\ovs
BAATITEL, OS dv Py xavdov €Ny und’ aloipa mivy.
(a) Write down and translate the Greek word that describes the wine.
Greek word English translation
[2]
(b) What warnings does the speaker give about drinking this wine?
[2]
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Passage A2

“exmeat, al x’ 0 E€tvos ~O8vootos péya T6Eov
évtavion xepoiv Te Bindl Te oL mOYoas,
olkadé p’ dEeobal kal €nv Moecbal dkoLTLv;
008’ avTOS Tov TOUTO 7y’ €Vl oThHBecoLy €olte ™

Odyssey XXI, lines 314-317

4 Translate Passage A2 into English.
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Passage A3

“BUpvpay’, ol mws €0TLy €UKAELAS KaTd SHpov
€ppevat ol 81 otkov aTipdlovTes €8ovoLy

avdpos aptoThos: T 8 éNéyxea TadTa TiOeobe; 3
oUTOS 8¢ E€lvos pdla pev péyas 18 edmyNs,
TaTPOS 8 €E dyabol yévos elxeTal €ppevat vids. 5

AN dye ol 86Te T6EOV EBEoov, ddpa (Swpey.”
Odyssey XXI, lines 331-336
5 Who is Eurymachus?

Put a tick (v) in the correct box.

A  aslave of Odysseus

B one of the suitors

C the swineherd

D Telemachus’ brother

1]
6 Three of the following statements about Passage A3 are correct.
Put a tick (v) in each correct box.
A Telemachus is speaking to one of the suitors.
B  The behaviour of the suitors is criticised.
C  The bow is described as strong.
D  The stranger claims to be of noble birth.
E The stranger is described as well-built.
F  vids (line 5) refers to Telemachus. )

©OCR 2015 Turn over
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8

6

“Why do you reckon this to be a disgrace?” (t{ 8 éXéyxea TavTa T{Beabe; line 3).

Explain the disgrace which the suitors fear.

..................................................................................................................................................... [3]
How does the language in Passage A3 help to reinforce what the speaker is saying?
You should make two points and refer to the Greek in your answer.

[4]

© OCR 2015



Passage A4

“TnAépaxos kéeTal oe, mepidpor EvplkieLra,
kAntoal peydporo 00pas TukLves dpapvias:”

Odyssey XXI, lines 381-382

9 Whois Eurycleia?

10 What does Telemachus order Eurycleia to do?

©OCR 2015 Turn over



Passage A5

aTap molipunTis *Odvooeils,
alTik’ émel péya Té6Eov éBdoTace kal (de mdvTy,
ws 0T’ avnp dOpuLyyos émoTdpevos kal doldhs
pNidlws étdvvooe vép mepl kKOIOTL X0pdHv,
alas appoTépwder éioTpedes EvTtepor olds,
Os dp’ dtep omoudiis Tdvvoev péya TH6Eov *OSdvooels.
SeliLTepn) 6 dpa XeLpl Aaov TELPNOATO VEUPTS”
N & VO KANOV deloe, XeEALBOVL elké\n avdHv.

Odyssey XXI, lines 404—411
11 In Passage A5, how does Homer convey Odysseus’ skill at stringing the bow?
In your answer you may wish to consider:

e the details of Odysseus’ handling of the bow;
* the simile of the lyre-player.

You must refer to the Greek and discuss any stylistic features such as choice, sound and position
of words.

Marks are awarded for the quality of written communication in your answer. [10]
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Passage A6

TOV (7 €ml TXEL ENQV ENkeV veupny YAudidas Te,
alTé0ev €k SidpoLo kabfpevos, fke 8 dioTOV

AvTa TLTUOKOPEVOS, TeMékewr 8 oUKk NILBpoTE TAVTOV
TPATNS OTELNELRS, SLd & dpmepes NABe BUpale

10s YaikoBapns:

Odyssey XXI, lines 419-423

12 Describe the loading and shooting of the arrow.

13 The arrow is described as . . .

Put a tick (v) in the correct box.

A bronze-weighted

B feathered

C swift

D with wooden shaft

© OCR 2015
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14 How does Homer create tension and suspense in Odyssey XXI?
You should make at least two points, supported by examples.

In your answer you should refer to the parts of Odyssey XX/ you have read, and you may also
refer to the passages printed in the question paper.

Marks are awarded for the quality of written communication in your answer. [8]

©OCR 2015 Turn over
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Do not answer Section B if you have already answered Section A.
Section B: Euripides
Answer all the questions.

Passage B1

/ 3 \ ~ 5 9 ’

TaUTNS oL Ta TPOT  WAPLOPEVOL
pvmoThpes N\Bov “EX\ddos veaviat.
Sewval 8 amellal kal kat’ AR AoV dOvos
EvvioTa®’, 60TLS N Adpot ™Y Tapbévov.
TO mpdypa 8 amdpws elxe Tuvddpew TaTpl,
Sotval Te un dotvat Te, THs TUXNS OTWS
adalt’ dproTta. kal viv etofi\dev Tdde-
Opkovs ovvdial de€lds Te cupPalely

~ s 7 \ ) /

HYMOTNPAS AANAOLOL Kal dL” € LTUpOV
omovdas kabelval kamapdoachal Tdde-

Iphigenia in Aulis, lines 3—-12
15 Three of the following statements about Passage B1 are correct.

Put a tick (v) in each correct box.

A A marriage is being arranged between Helen and Menelaus.

B Helen wishes to marry one of the suitors.

C  The suitors are desperate to win Helen.

D The suitors are the wealthiest young men in Greece.

E The suitors kill each other.

F Tyndareus is Helen’s father.

[3]
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16 7O mpaypa & dmdpws eixe Tuvddpew maTpl,
Sotval Te un dovval Te,

What is the problem facing Tyndareus?

17 Opkous ovvddatr deEids Te oupParelv
LYNoTHpAS aA\oLoL kal 8u” Epmipwr
omovdas kabelval kamapdoachal Tdde

What are the suitors required to do in order to confirm their support for Tyndareus’ plan?

You should make three points.

© OCR 2015
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Passage B2

kK\Oov 8 €yo TadT’, 0pbly knplypaTt
TaX@OBLov elmov TavT’ ddLévat oTpaTédv,

s oUToT v TAAS BuyaTépa KTAVELY Epnv.

ol 81 1’ ddeddods mdvTa mpoodépwr Néyov
émeloe TAfVaL Sewvd. Kav SENTOU TTTUXALS
vpdisas Emeplia mpos ddpapTa THY EUNY
TéPTELY ~AXLANET BuyaTép’ ws yapovpévny. . .

Iphigenia in Aulis, lines 45-51
18 Kk\wv & éyw TalT’: What information had Agamemnon heard just before this passage?

You should make two points.

[2]
19 What order does Agamemnon give to Talthybius?
Put a tick (v) in the correct box.

A to bring Iphigenia to Aulis

B to call the whole army together

C todismiss the army

D to summon the commanders for a meeting ”
1

© OCR 2015
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20 oU 8% U’ ddeldds mdvTa mpoodépwr Néyov
€meloe TAfvat Sewvd

Write down and translate the Greek word which Agamemnon uses to describe the sacrifice of his

daughter.

Greek word

English translation

21

b / ~
KAV OEATOU TTUXALS

vpdidsas Emeplia mpos ddpapTa THY EUNy
mépmety ~AXLANEL OuyaTép’ ws yapovpévny. . .

(a) To whom does SdpapTa refer?

Put a tick () in the correct box.

A

B

Achilles

Clytemnestra

Helen

Iphigenia

(b) What instructions does Agamemnon give in the letter?

[2]

]

© OCR 2015
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Passage B3

.. TO T délopa Tavdpos ékyavpoljevos,
~ P ~ o 5 > ’ ’
OURTIAELY T AXALOLS OUVEK™ ov BENOL A€y,
el pn) Tap’ MUV elowy és ®olav Aéxos:

Iphigenia in Aulis, lines 52—-54
22 How did Agamemnon try to persuade his daughter to come to Aulis?

© OCR 2015
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Passage B4

Id. ws oU BAéTeLs €kmlov dopevis P Ldov.

Ay. TOAN avdpl BaotAel kal oTpaTNAATY PENEL.

Id. Tap’ épol yevod viv, pn "l dpovTidas Tpémou.
Ay. a\\” elpl Tapd ool viv dmas Kovk dANo6L.

Iphigenia in Aulis, lines 159-162

23 Translate Passage B4 into English.

©OCR 2015 Turn over
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Passage B5

{NAG o€ pa\\ov 1 pe Tob pndev dpovelv.

XOpeL 8¢ peXdfpov €vTios - 0dBfval kopats

mLKPOV - diAnpa dovoa deEidv Té pot,

LéAovoa Sapov TATPOS ATOLKNOELY Xpdrov.

o oTépra kal Tapides, o Eavbal képat,

ws dx0os vpiv éyéved’ 1 Ppuydv TONLS

“ENvn Te. - mado Tovs Moyous: Taxelda ydp

VoTls Stokel B OppdTov yadcavtd oou.

Iphigenia in Aulis, lines 188—195

24 In Passage B5, how does Agamemnon show his feelings for his daughter Iphigenia?

In your answer you may wish to consider:

e his concerns for her fate;
* the effect her departure has on him.

You must refer to the Greek and discuss any stylistic features such as choice, sound and position
of words.

Marks are awarded for the quality of written communication in your answer. [10]

© OCR 2015
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Passage B6

25

ndv yap 7O dds
BAéTeLr: Ta 8 UTO YAs N 1 18ty dvaykdons.
TPOTN 0° ékdAeoa TaTépa Kal o Tald’ Epé-
TPOTN 8¢ yovaoL colot odpa 8000’ Epov
dilas xdpiTas €dwka kavTedeEduny.
Iphigenia in Aulis, lines 287—-294
(@) NdY yap 10 dds PAémelv: What does Iphigenia mean when she says this?

© OCR 2015
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26 TpWTN 0 €kdleoa TATEPa KAl OV TALS’ Epé-
TPOTN 8¢ yovaoL oolol odpa 5000° Eov
dilas xdpitas €dwka kavTedSeEdpuny.

How does the language of these lines from Passage B6 illustrate the mutual affection between
daughter and father?

You should make two points and refer to the Greek in your answer.

©OCR 2015 Turn over
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27 To what extent does Euripides make you think Agamemnon is right to sacrifice his daughter
Iphigenia?

You should make at least two points, supported by examples.

In your answer you should refer to the parts of Iphigenia in Aulis you have read, and you may
also refer to the passages printed in the question paper.

Marks are awarded for the quality of written communication in your answer. [8]

© OCR 2015
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END OF QUESTION PAPER
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ADDITIONAL ANSWER SPACE

If additional answer space is required, you should use the following lined page(s). The
question number(s) must be clearly shown in the margins.
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